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The figures in the margin indicate full marks
for the questions.

Q. No. 1 carries 1 mark €ach......ccoceeeeeeeininennnnes 1x12 = 12

- Q. No. 2 carries 2 ;rLarks each .....cccoovvvvvvinnnnnns 2x12 =24
Q. No. 3 carries 4 marks each.........ivocevuruneueen. 4x10 = 40
Q. No. 4 carries 6 marks each.........cceeuueveeeuenee. 6x4 =.24
Total =100

22 / EDUC Contd.



Answer the following questions : (any twelve) C 1x12=12
s it vy Y foAt s (R A h

fesre emefr Bex mie ¢ (@@ AE) |

e € WHEERR e @ ;. (SraRaerr st
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(b)

Fill in the blanks :
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'_I‘he Indira Gandhi} National Open University was established
in ‘ ,

PR MR WG Yo R 5o aifew w1 )
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U T TrROR Se e TR e
SRIEA | '

On the basis of the recommendation of
Government of Assam decided to change some hig
multlpurpose school.
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(c)  Prior to secondary education in Assam was
cont
the Gauhati University and Government of Assam rolled by
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h schools into -

(d)

(e)

(9)

‘World Environment Day is celebrated on

BRSNS Soes Mg e oGl ﬁm’fmmmmm
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e e |

__mamﬁwmmmﬁﬁéuﬁmmﬂamﬁ ngmﬁaanﬁ
T TR AHAFRIEA |

The concept of correspondence education was first introduced
by in 1840.

AQATC! KR GIRECHT 999 - Sh80 5 oG IRM%A |
Agras R R A Su80 TS oSN FRE |
The name of the largest Open University of the world is _____
fRew SKgze I& Remecaam e

31 1840 HAAZIE 8™ SRIRMM |

e stfsee fr
ooy stfiicae et
I ST |

IfRte TR = = |
IfCd Svaiefe <1 23 |
_ OeNE R S |

Ivan Pavlov was a Russian Physiologist and

TR (Here Ui AR *FITogRM O e |
TSN *fiere (Fow AT MTOERY - oA ferew |
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(h) Conditioning method of learning eétablishes bond between

0

natural tendency and

e S oo FreiiRe el uie I TS T G
IE|

FRIFoR SR I TSI 2ROl R8O T 714 e |

Gl TR sresen iR Wy 1 o Oy
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Give short answer in one sentence :
<51 TS T i

<3 1 Tew Wi ¢

A g R

Which Education Commission suggested the 10+2+3 structyr
of education ? | )

RN B egieel 10+2+3 B sl o eerpiafie »
I Bl Szt 10-+2+3 oIl SIS =R & cfess
T Grelieng ot e 10+2+3 Weie TR GEA S 2

“Non-formal education différs from formal education in the sense

that it takes place outside the formal school system
this ? |

e R RS PeAREeeIR {1 Rk whem w2 e
STIsifes R JE (PRI |7 — R B! TR 2 '

“Aere e IRE@ AHARSETSIR mﬁmammw@m
ol-3f2gs ot 7o =7 17 — @R T I e |

T TE frereran HieeeE e WA BRI e gt
Tt i Tei SrEsisTe € S S SgREen Srfy 2

» Who Said

) .
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(k)

¥

(m)

n)

“Physical education is the sum of changes in the individual
caused by experiences centering motor activity.” Who said this ?

R T T TerR T @R SfeweR FerEae Te @4 e
ARG TR |” — 93 &0 PR 2

i R 2o e R Sfower Teramsl Bl 26T e
SAfFTO A 7B I — 92 Of&H IR 2

R Sielenea ST motor activity @ i wreTeTY st
TR S 1" o JHGeT ERi 2

“Learning is both acquisition and retention of habit, knowledge
and attitude.” Who said this statement ?

oI, I SR SCATSSATI STgRel S FEeld T e |7 — (3B TeT
(A Tfee 2 ‘ |

S, W B NASH ST GR W@’S“ﬁ oo o | — 3 Ofe
(@ IEREN? .

!, T TR TG WG ST EE SR TR efE s
T 1" S e SR 8 ?

What is voluntary or volitional attention ?

2o 3 TIPS T I (A 2

A5z 31 TS AN TICE I 2

e MESTR T TS W6 S JrE 981 2

What is image memory ? - |

eifowel g [F?

offewmel e F 2

g foafiae = ?

22 / EDUC [5] © Contd.



(o) What is mode ? | o
IET FIF (T 2
- T () ICF A0 2
ISR e g ?
(p) Write the formula for finding out first quartile frén:l ;éroup data
TR A =11 212 b R 21 St fora |
’WEEE%Mﬁcwcﬁawﬁsgﬂkwﬁhﬁwﬁmgzgﬁ;@qq“
BT R frserer fifer iferelt fogm wemgeet fim

2.
An_swer any twelve of the following questions :

RS otz iz el G e 2
TETIE B STARg T WiFAfT QiAEt e o)

(a) W r]‘.te tW i |
) 7 nr I .ng

R o e R
- Wﬁ@_ WWﬂWW@W%ﬁ

2x12=24

ﬁm«:@@mﬁa@wﬁm@mﬂﬂﬁwﬁmﬁm|
@Fﬁmaﬂﬂmﬁ@wﬁ@ﬁ%*'aﬁm'%ﬂmmlﬁmﬁ@'l

Write two importance of vocational
lp the present context.

m%mmmq@%%@mﬁm%ﬂW|

Wﬁ%wmmwmﬁwwﬁmw@mw'
| Wmﬂﬁﬁﬁmﬁﬁuﬁ@ﬁ%ﬁfﬁmmﬁﬁﬁﬁﬁﬁaw'n
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(b)

1sation of secondary education.

[6]

(c)

(d)

(e)

9)

)

Write two objectives of “Operation Blackboard” scheme.
“SATCIDN G BB T STl L T |
SR IS AR 76 St Srad T |
ST sihere ' fawifaf Jie vife wa '

Define the concept of physical education.
e PP L=en v <5 |

i R arefb Afowera 4 T |

TR Ve Feien o |

What do you mean .by value education ?
et e 3feree ofs f e

TERICER TS o F @A

EEEEICIKIRIE et S W g ?

Define the concept of women empowerment.

TfREN AR LIREACH! I T4 |
W SREPACIR LRNTS 1 e |
C SRR RIMERSIEARIC teCf

Write two differences between maturation and learning.

sif3sigol WF: FrFeiR TS A 4B #{1< 7= |
sfFof@et @R MrEreR Sty v w1y @R
TG AR AAAEH TSRS O™ WA BRI fer |

What do you mean by law of readiness in learning ?

e erefex Tife 3fevca e 3e 2
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MRk ? ' (n) Define the preventive function of mental hygiene.’

| eI feraify wifte et w gfv 2 o . TR FYRER af STt S Gy 1|
() What is retention ? o PR TrgReEEn A W/?I B 2 wie I.
WIF I @A . e et fafiEmt e e e |
TR PIE T2 . | - . (o) Find the Median and Mode from the following data: ~ 1+1=2-
A o Tt gt 2 B B | woTe Al SRR 2 T WIS IS efd 31 ¢ |
() What is retroactive inhibition ? , ' iR SARIf (T T R T (1) fRef et ¢
sires1eR aforare w1 Q@I I | TS S R R R R g -
i efecaty e T2 58, 42, 30, 64, 57, 42, 34, 53, 44 and 38
ST WW TG T ? - v (p) Write two merits of quartile deviatibn as a measurment of
| (k) Write any two characteristics of attention, | B} : Variabilit‘;;ﬁ ot £ g @1 ?I\%l S
TR | ' cowel At Rpjtex (w1210 79 © q Aall
wm'mﬁtﬁw@w’l - @mwﬁaﬁwﬁmﬁaa@mﬁﬁmmwn |
() Define the concept of mental health and hygiene 3. Answer any ten of the following questions : b 10:40
TP 1y oI gyt 41=eN 001 <=4 | | TS TRl R 7R e T i
TS g @ AR el AT 3ot gy ﬁ’zﬁﬁ;‘z@mwﬁ ﬁ@wm’z
L o ; : RIKEIC SrargsTar LIEICIERLEE PRI
(M) Write two objj:iz T:T::::j:ijfal | (d) Zitsesi);r( ilrggcl);tant provisions of the Secondary Education Act
WWWW%@@W"I | | | | o T3S PR BT (196 1) T 91 B! agepef erg R v |
TR g it Sre S I | o . o TR PR R (196 1) SraRe SRS e e R E
2'2/EDUCW3“&%€TW% oifig 7@’ | - ' mﬂéﬂﬁ@ﬁmm(l%l)n@’wmvﬁmﬁﬁ@ﬁ@ﬁﬁw
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()

()

(d)

(e)

éﬁmﬁ@ﬁmwm%m@ﬁuﬁﬁmmqﬁw, |

Write foqr important functions of ‘Board of Second
Assam’,

S Megfiis Rt @6 3 wﬁﬁ'@aﬁq‘fﬂmﬁ‘r T 9 l.\ : |
P TR R 6™ BT et S Sy m |
‘mﬁﬁﬁ@ﬁmaﬁ’ﬁﬁﬁﬁﬁww&w’l
Discuss four major problems of secondary e.ducation. in Assam
SRR Ny ﬁmﬂa BIfRGH ST ST SCaAsat 30 | |
SPTR <gfe B SIS o1 T @i 2w
Write four objectives of non-formal education.
STeReIeT R SIRGH Sol B a1 |
DTS Pz STl Sov S IR |
RS Wi Wreliensf A feife T’
Write four advantages of correspondence education.
719 W BRIt fir R BIRG! 7R Seme) 3 |
M3 BRI Craa R S TR St 3 |

Di - SNIPPO
SCuss four significant aspects of distance educatio
n.

T PR 5151 1o il e < |
TR BIAfS iesiof yfbef S w0 |
SRR Weiemefy Hme 387 T famet v
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ary Education,

(9)

(h)

(t)

0)

(k)

Q.
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How can the physical education be imparted in school ? Discuss.
RrgreTre AR R SEWCS eI TR =41 2 e 41|

Retca RS e SN emiN 51 (TCS AT 2 SN I
HEHITEETE e W TR BT 1 ? 9o |

Discuss the need and importance of value education.

IR PR TCAEAINS! S WG S| 1 |

ORI R IeRITS] (<R GG S A |

Jo SR T SR Wi W |

Write four irhporta’.nt characteristics of insightful learning.

el e IfeT g (A% T =1

-Wﬁﬁﬁ@ﬁﬁ@ﬁﬁﬁmmml
: gmq}a’]ﬁq@@mﬂﬁ " W"ﬁ’l’iw\ﬂﬂgmf?‘l’{l

Discuss the educational significance of law of effect.
R e Al SffRelT MR 0o tesidh SEEATsa 1 |
Fipsere TR A SRR TSR xfFs Slestd S 3G |
AR S SR St R | | |
Write four physical causes of forgettihg.
frgfe BIfRD! R T T 74|

frgfox ol = e A

TR A iR S foR |

«pttention and interest are like two sides of the same coin.”

Discuss.

AT S MR T I 751 309 wea 17 e < |
AT €34 SIeE €36 YU 61 I STl | Szt e |
iy BT ST TR e TR SR A fargf anfe ) wed |
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(m) Discuss four characteristics of a mentally healthy ihdividual.

(n)

(o)

TNRPRFSIE 77 IS TR Bif5! (AR Setva |

- TAPReIR 33 9o IR DR ([T s T |

TR T W gE HS STges e |

Discuss the importance of statistics in education and
psychology. ° . _

oot o1 R (P SHfRTR A Reeing eitarenT e sTacs Szaoe < |
et e Rt e wAfRR R eicarefiae! sres sz
FEI

e AR e ST e T A e

What is frequency polygon ? Draw a freqliency polygon from the
following distribution table : (use graph paper) 1+3=4
IRIR! TG P (I 2 Ol Oeroi S2pges siny i TGS
W 9N 3 (51 I IR FRAT)

TN T2ger I 0 2 AR OIfEReR S2pmg carss qmesias

RS
I I 2 (14 Fhoe IR FR)

Class Interval Frequency
() wrorer) CAKIE))
. (G217} 37eptay) (A7)
- (TrE @) (TR
80-84 1
75-79 3
70-74 6
65 - 69 9
60-64 12
55-59 8
50 - 54 6
45-49 3
40-44 2
N =50
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4. Answer any four of the following questions : 6x4=24

GRS @-mw?ﬁ? 2THA TS WIS 3
IERIE] T SrERgsTan HiTet SiAEf |EF:' T &

(a) What is environmental education ? Discuss the principles of

environmental education. - 2446

ARG TRl s 1T 2 SIfRTa i TR Seeoat <41 |
 offit Rl <P T2 SR Rt ST SO v |

e St e 72 ? SfufreR A atme T

(b) What is population education ? How can the population education

be imparted in educational institution ? Discuss. - 2+4=6
iRl R P (A 2 RrpgbTe Srpay! s (SR 2 R AR
SCEH 1| | | .

G PP I e 2 PrmtefeRE T B Freim anm 331 ([0S
AR 2 NI FCA |

e T T 2 WEUE |

What is connectionism in learning ? Discuss the educative value

of trial and error method of learning. 2+4=6
e A ©F T (ICT? AG W o7 gl sigifod L 0
nGiraiRall .
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W%WQWWWWW?MQQWI%#WWW‘ . . 9IS ICE I 2 SIS G +%fed g Rl arare Reww s

ST R | . , (03 51C [T a5 ¢ .
L | | | 3Ry A TR 2 T T TR ST TS T €T TeRTdten
@aﬁmﬁmamﬁmn@gaﬁ?mmwﬁﬂﬁum@?ﬁmﬁ | m qj@m@ mﬁ'\ﬁ'{fﬂﬁiql ‘ :
Hreiermgntt P e | ] \
| ) Class Interval Frequency
(d) Describe the meaning and process of memory. Briefly discuss i | () ) (IR
four marks of good memory. ' 2+4=6 | . , (AT} ) (F[NT97)
- . ' ' RICCIRCIEAE ) (TerTte)
memaﬁmwuwwmmqmww' | 2
65 -69
mwﬁaaw%mmmnmwqummqw 60 - 64 3
)l ' -
sl 55-59 4
Wﬁa%ﬁaﬁa@%@anwwwmmwn | >0-54 ’
- N . , 45-49 8
(e) What is attention ? Discuss the Importance of attention and i6
interest in education. 2+4=6 o |
| = 35-39 °
mﬁmm?ﬁwmmﬁmw@r@@@gww, | ~ 30-34 4
! ’ - 3
Wmﬁmam?ﬁwmmmaammgwww, - 25-29
. | 20 - 24 2
wmmw?m@mﬁﬁrﬁmmmmmmﬁﬁw@ | 15-19 2
| | | | .
() What is mean ? Compute mean from the following distribution
table by Assumed Mean method : 1+ 5=6- 8

T BT mﬂ?wﬁ@mﬂﬁf@mmﬁmwsmﬁwm
9] G T ey :
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